EX.1
1) yes it is. We are the part of nature.
2) yes is it.
3) yes it has. Large cities with thousands of smoky industrial enterprises appear all over the world today.
4) their disappearance upsets the oxygen balance.
5) the pollution of air and the world's ocean, destruction of the ozone layer is the result of man's careless interaction with nature, a sign of ecological crisis.
6) the Chernobyl tragedy was in April 1986. About 18 per cent of the territory of Belarus was polluted with radioactive substances. A great damage has been done to the republics' agriculture, forests and people's health.
7) Contamination of a large part of the territory with harmful radioactive substances, damage to many species of animals and plants.
8) Yes is it.
9) As many as 159 countries — members of the UNO — have set up environmental protection agencies.
10) Yes it is. Common problems must be solved by the whole society.
EX.2
[bookmark: _GoBack]1) Protection of nature is the main task for today
2) Environmental problems lead to bad consequences
3) China has had a problem with air pollution for many years
4) World suffer from smog.
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